
 

 
 

https://pixabay.com/es/financieros-analytics-difuminar-2860753/ 
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𝑷𝑬 = (𝑷𝑰) ∗ (𝑬𝑨) ∗ (𝑷𝑫𝑰)



 

 
 

𝑷𝒊𝒋=𝑷(𝑿𝒕+𝟏 = 𝒋/𝑿𝒕 = 𝒊)

𝑃𝐼𝐽
𝑛

𝑃1𝑗
𝑛+𝑚 =

∑ 𝑃𝑖𝑘
𝑛 𝑃𝑘𝑗,

𝑚∞
𝑘=0 ∀𝑛, 𝑚 ≥ 0, ∀𝑖, 𝑗,

𝑃(𝑛+𝑚) = 𝑃(𝑛). 𝑃(𝑚).



 

 
 

𝑷𝑲𝑴=

𝑵𝑲𝑴

𝑵𝑲

- 

- 

- 

- 

≥

- 

∑ 𝑃𝐾,𝑀
𝐸
𝑀=𝐴 =



 

 
 

𝑌

𝐥𝐧 (
𝒑

𝟏 − 𝒑
) = 𝜶 + 𝜷𝟎 + 𝜷𝟏𝑿𝟏 + ⋯ + 𝜷𝑲𝑿𝑲

𝑷 =
𝟏

𝟏 + 𝑬𝑿𝑷−(𝜶+𝜷𝟎+𝜷𝟐𝑿𝟏+⋯+𝜷𝑲𝑿𝑲)

𝜷̂ − 𝒁𝜶/𝟐√𝑽𝒂𝒓(𝜷̂) ≤ 𝜷 ≤ 𝜷̂ + 𝒁𝜶/𝟐√𝑽𝒂𝒓(𝜷̂)

𝒁 =
𝜷𝒊̂

√𝑽̂𝒂𝒓(𝜷𝒊̂)

|
𝜷̂

√𝑽𝒂𝒓(𝜷̂)

| ≥ 𝒁𝜶/𝟐



 

 
 

𝑶𝑹(𝑿) =
𝑷(𝒀 = 𝟏|𝑿)

𝟏 − 𝑷(𝒀 = 𝟏|𝑿)

𝑌 = 1 𝑌



 ≠

𝑾𝒂𝒍𝒅𝒊 =
𝜷̂𝒊

𝟐

𝝈̂𝜷𝟏
𝟐  

𝑾𝒂𝒍𝒅𝒊 = 𝜷̂𝒊
𝑻∁−𝟏𝜷̂𝒊

||
𝜷̂

√𝑽𝒂𝒓(𝜷̂)

|| ≥ 𝒁𝜶/𝟐



 

 
 

𝑬[𝒀] = 𝑷(𝒀 = 𝟏) = ∫
𝟏

√𝟐𝝅
𝒆𝒙𝒑 (

𝒕𝟐

𝟐
) 𝒅𝒕

𝒙𝒊
𝟐𝜷

−∞



 

 
 



 

 
 

INICIO/FIN 

INTERVALO

LIMITE 

INFERIOR
CATEGORÍA

AL DÍA 0 000-000

1-30 DÍAS 1 001-030

31-60 31 031-060

61-90 61 061-090

91-120 91 091-120

121-150 121 121-150

151-180 151 151-180

181-210 181 181-210

211-240 211 211-240

241-270 241 241-270

271-300 271 271-300

301-330 301 301-330

331-360 331 331-360

>360 361 MAYOR A 360



 

 
 



 

 
 



 

 
 

 

𝑷𝑬 = (𝑷𝑰) ∗ (𝑬𝑨) ∗ (𝑷𝑫𝑰)
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